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SECTION A (32 marks)
Answer ALL gquestions in thix section.
Highlight three ways in which Business Finance is important to an organisation. {3 marks)
Bingwa Limited eses material Tx in its production process. The annual demand of the material

is 160,000 units. The annual holding cost is ksh 250 per unit per annum and the cost of placing
an order 15 ksh 500,

Caleulate the Economic Order Quantity. (3 marks)
Outline four advantages of ordinary shares as a source of business finance. {4 marks)
Differentiate between leverage ratios and tumover ratios. (4 marks)

John intends 1o save ksh 50,000 a1 the end of each year for 6 yvears, in a bank account which
pays compound interest at the rate of 10% per annum.

Calculate the amount in the account at the end of the 6 years, (3 marks)
Outhine four ways in which cost of capital is important in business decision making.

(4 marks)
The current ratio of a company is given as 2.33:1.
Interpret the ratio. (2 marks)

Highlight three ways in which ngo-banking financial institations are important in an economy.,

{3 marks)
9. Owtline three limitations of the Pay Back Period a5 a method of investment appraisal,
(3 marks)
ﬁﬁ‘; Peter expects 10 receive ksh 1,600,000 as retirement benefits at the end of 4 years, Calculate
" the present Eajue of the amount, at a discount rate of 14% per annum, {3 marks)
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SECTION B (68 marks)
Answer ALL questions in this section.

1. {a)  Explain five factors that a firm should consider when selecting a source of finance,
; (10 marks)

by The annual cash requirement of a firm 1s ksh 2,500 000, The amount is available i the
form of marketable securitics which can be converted into cash at a cost of ksh 100 per
transaction. The yield on the marketable securities is 20% per annum.
Using Baumol's model, calculate the:
(i) optimal cash balance;
{it}  number of conversions per year,
{iiiy  annual cost of the optimal cash balance. {7 marks)

12.  (a) Explain five functions of commercial banks in an economy. {10 marks)

(b}  The following is a profit and loss account for Kotu Limited for the year ended 31
31 December 2016,

Ksh Ksh

Sales 1,300 000
Less cost of sales:
Opening stock 610 000
Purchases | R ELLY

1,670,000
Less closing stock (5500001 (L1200
Gross profit 180,000
Less expenses:
Depreciation 30,100
General expenses 22 000
Interest on loan _S M0 (371000
Net profit before tax 122,500
Less corporation tax {30%) (36 870}
MNet profit afier tax 86,030
Less appropriations:
Ordinary dividends (1L5.000)
Profit and Loss account L0330
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Calculate the:

(i}  gross profit margin;

(ii)  met profit margin;

{iii)  operating ratio. {7 marks)

Explain five factors that may affect the efficiency of savings and credit co-operative
societies in Kenya, {10 marks}

The

management of Mabato Limiled intends to invest Ksh 5,500,000 in either machine

A or machine B. The expected cash inflows of the machines are given as follows:

Cash inflows (Ksh)

Year Machine A  Machine B

W e e B ==

200,000 450 000
720,000 A00,000
1,200,000 1,550,000
00,000 700,000
500,000 400 DO

The firm's cost of capital is 10% per annum.,

(i}

(i1}

Calculate the Net Present Value (NPY) of each machine;

Using the results in (i) above, advise the management on the machine to invest
in. (7 marks)

Explain the use of each of the following financial ratios in business decision making:

(1}
(ii)
{iii)
(iv)

(v)

Current ratio; -}, 1 ¢ | roGivi i g [ leas I Tone po ret 'i
, : hevr on ol kg A bk lral: ke
Gearing ralio; Mae ; M O alei 10 45
1'!'-"'- He praper ke oo s
Gross profit ratio; ' WL
Dividend pay out ratio;
Price earnings ratio. {10 marks)

Pata Limited intends to raise capital from the following sources!

200 (HK) ordinary shares of ksh 10 at ksh 18 each;
150000 10% preference shares of ksh 10 at ksh 15 each;
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. 50 000 15% debentures of ksh 100 at ksh 120 each;
. Bank loan of ksh 6,000 004 at an interest rate of 14% per annom.

The company will pay ordinary dividend at 12% and the corporation tax rate is
30%.

Calculate the:
(n) total amount of capital to be raised by the company;
(11}  component cost of capital;

(i} weighted average cost of capital. {7 marks)
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